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E 08° yy.yyy'

N 50° xx.xxx'

In this logic puzzle the cells in the grid have 

to be coloured (or left blank) according to 

numbers given at the side of the grid. The 

numbers measure how many unbroken 

lines of filled-in squares there are in any 

given row or column. For example, a clue of 

"4 2 3" would mean there are sets of four, 

two, and three filled squares, in that order, 

with at least one space in between each 

group. Combine all clues to obtain the 

solution. Recommendation: Mark empty 

cells by a dot.

The correct solution of the riddle shows 

numbers in two rows: The upper one 

(xx.xxx') gives the minutes of the latitude, 

the lower one (yy.yyy') the minutes of the 

longitude for the cache coordinates.

Cache-Koordinaten: N 50° xx.xxx'

E 08° yy.yyy'

Cache coordinates:

ATDB 1973
Erklärung zum Rätsel

Explanation of the riddle

Ziel es ist, die Zellen im Gitter einzufärben 

(bzw. nicht einzufärben), wobei Zahlen vor 

jeder Zeile und über jeder Spalte angeben, 

wieviele zusammenhängende Zellen 

einzufärben sind. Die Zahlenfolge "4 2 3" 

vor einer Zeile enthält somit die Information, 

dass in dieser Zeile von links nach rechts 

ein Block von 4 zusammenhängenden 

Zellen, ein Block von 2 

zusammenhängenden Zellen sowie ein 

Block von 3 zusammenhängenden Zellen 

einzufärben sind. Zusammenhängende 

Blöcke sind durch mindestens ein leeres 

Kästchen voneinander getrennt. Es ist zu 

empfehlen, leere Kästchen durch einen 

Punkt zu markieren.

Die korrekte Lösung des Rätsels zeigt 

Zahlen in zwei Zeilen. Die obere Zeile 

(xx.xxx') liefert die Minutenangabe für die 

geographische Breite, die untere Zeile 

(yy.yyy') die Minutenangabe für die 

geographische Länge der 

Cachekoordinaten.




